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1) Consolidate all | (1) |
subsidiaries |

2) All or part of an asset?

3) Has right to cash
expired?

4) Transfer of right to
collect cash?

5) Pass-through
conditions met?

6) Substantially all

Derecognise I

[\ [o) derecognitioni

I‘iSkS/ AVEI S Derecognise I
transferred?
7) S_u bstantially all = No derecognitio]
risks/rewards -
retained? N
) Derecognise I

8) Control retained?
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Determining the part of a financial asset subject to transfer

Entity X, the transferor, transfers the right to the first CU90 of cash flows that are
derived from a debt instrument, the fair value of the asset is CU100 on the date of
transfer.

The transferor cannot apply the derecognition model to part of the asset because
the transferor has neither transferred specifically identifiable cash flows nor a
fully proportionate share of all or part of the cash flows, The transferor would
apply the derecognition model to the asset in its entirety. The transferor
effectively agrees to absorb the first CU 10 of losses from the transferred asset.

It should be noted, however, that if the transferor had transferred a 90 per cent pro
rata share of all cash flows from the asset, then the derecognition model could be
applied to the part of the asset that has been transferred, i.e. 90 per cent. in that
case, the transferor and the transferee would have agreed to participate in a fully
proportionate share of losses.

Deloitte.




Pass-through arrangements with credit enhancement

Entity B enter into an arrangement with Entity C under which where Entity C pays Entity
B CUO0.9 million in return for receiving cash flows on CU1.0 million of assets when
expected losses on the assets are 10 per cent of all cash flows (interest and principal).
Entity B retains the contractual rights to receive the cash flows from the assets but
assumes an obligation to pay cash flows from the asset to Entity C. The maximum cash
flows that Entity C can receive under the arrangement are interest and principal on a
notional of CUO0.9 million. If actual credit losses are lower than expected( (say, only 5 per
cent), Entity B will pay Entity C interest and principal on CUO0.9 million and retain
interest and principal on CUQ.05 million.

Entity B will apply the derecognition model to the full CU1.0 million of assets. Entity B
will pass the pass-through tests, assuming all other conditions are met, because Entity B
will pass interest and principal on a notional up to CU0.9 million of the cash flows to
Entity C.

However, if the form of the transaction were different, in that Entity C pays Entity B
CU1.0 million for the assets and purchases a financial guarantee contract from Entity B
for CUO.1 million, then the pass-through tests would not be met because Entity B will
pay the eventual recipient, Entity C, even when it does not collect the equivalent amount
from the original assets.

Deloitte.




Interaction of pass-though tests and risk and reward tests

Entity A originate a portfolio of five-year interest-bearing loans of CU10,000,
Entity A enters into an agreement with Entity C whereby, in exchange for a cash
payment of CU9,000. Entity A agrees to pay to Entity C the first CU9,000 (plus
Interest) of cash collected from the loan portfolio. Entity A retains rights to the last
CU1,000 (plus interest), i.e. it retains a subordinated residual interest. If Entity A
collects, say, only CU8,000 of its loans of CU10,000 because some debtors
default, Entity A would pass on the Entity C all of the CU8,000 collected and
Entity A keeps nothing. If Entity A collects CU9,500, it passes CU9,000 to Entity
C and retains CU500. Expected losses are CU500.

Even though all cash flows that derive from the portfolio of assets are passed onto
Entity C up to a maximum of CU9,000, Entity A has not transferred substantially
all risk and rewards of ownership because of the subordinated retained interest.
The residual interest absorbs the likely variability in net cash flows, i.e. the
expected losses.

Deloitte.




Determining the extent of risk and reward transferred

Entity A has a portfolio of similar prepayable fixed rate loans with a remaining
maturity of two years, a coupon and effective interest rate of 10%. The principal and
amortised cost is CU10,000.

On 1/1/X0 Entity A transfers the loans for cash consideration of CU9.115 to Entity
B, an entity not consolidated in Entity A’s consolidated financial statement. In order
to acquire the loans, Entity B issues a senior note, linked to the performance of the
transferred assets, to third parties where the holders of the notes obtain the right to
CU9,000 of any collections of principal plus interest thereon at 9.5 per cent. Entity A
agrees to retain rights to CU 1,000 of any collections of principal plus interest
thereon at 10 per cent, plus the excess spread of 0.5 per cent on the remaining
CU9,000 of principal. Collections from prepayments are allocated between the
transferor and the transferee proportionately in the ratio of 1:9, but any defaults are
deducted from Entity A’s retained interest of CU1,000 until that interest is exhausted.
Entity A’s retained interest is therefore subordinate to the senior notes because it
suffers the loss of any defaults on the transferred assets prior to the holders of the
senior notes.

Interest is due on the transferred assets annually on the anniversary of the dated of
transfer.

Deloitte.




Determining the extent of risk and reward transferred

In order to determine the extent to which Entity A has retained the risk and rewards of the
transferred assets, Entity A considers a number of scenarios where amounts and timings of
cash flows on the transferred assets vary and assigns a probability for each scenario
occurring in the future. For illustration purposed, only four scenarios are included below
although, in practice, a larger number of scenarios is likely to be required. A risk-free rate
of 8.5% is used to determine net present values. All amounts are denominated in CU.

Scenario Total Senior note Retained by

1.All loans prepay
immediately with no
default.
Probability is 20%

2. All loans prepay in
one year with no
defaults.
Probability is 20%

Deloitte

1/1/X0-
Undiscounted

Total net
present value

1/1/X0-
Undiscounted

1/1/X1
Undiscounted

Total net
present value

10,000

10,000

holders

9,000

9,000

9,855(9.5%
x9,000)+
9,000

9,083

Entity A

1,000

1,000

1,145(0.5%
x9,000)+(10%Xx
1,000)+ 1,000

1,055




Scenario Total Senior note Retained by

holders Entity A
3.All loans run to 1/1/X0- - - -
their contractual Undiscounted
maturity of 1/1/X2
with no defaults. 1/1/X1- 1,000 855(9.5% 145(0.5%
Probability is 30% Undiscounted x9,000) x9,000)+(10%
x1,000)
1/1/X2- 11,000 9,855 1,145
Undiscounted
Total net 10,265 9,159 1,106
present value
4. All loans defaults 1/1/X0- - - S
at 1/1/X1 and due Undiscounted
to immediate
foreclosure and sale 1/1/X1 10,741 9,855 886 Proceeds
of the collateral, a Undiscounted from sale of
total of CU10,741 is collateral less
recovered. amount paid to
Probability is 20% senior note
holders
Total net 9,900 9,083 817

present value

The net present values for each scenario are multiplied by the probability of each scenario to
determine a probability weighted present value. The variance before and after the transfer is

determined using the profitability weighted present values.




Continuing involvement : guarantee over first
default losses

Transferor X transfers an asset to Transferee Y. The carrying amount at the date of
transfer is CU 100, which is also the asset’s fair value at that date. Transferee Y pays CU
105. Transferor X provides a guarantee to Transferee Y to pay for the first default losses
up to a value of CU 8. The fair value of the guarantee at the date of transfer is CU 5.
Expected future losses on the portfolio are CU 12, Transferor X considers that
substantially all the risks and rewards of ownership have neither been transferred, nor

retained. Transferee Y does not have the practical ability to sell the assets, ie. Transferor
X controls the asset.

Transferor X determines its continuing involvement as the extent to which it continues to
be exposed to the changes in the value of the transferred asset, ie. The lower of:
(i) The carrying amount of the asset (CU100); and
(i1) The maximum amount of the consideration received in the
transfer that Transferor X could be required to repay (‘the guarantee amount’) (CUS8).

Deloitte.




Transferor X recognize its continuing involvement at CUS8, and derecognizes the part of
the asset transferred, i.e. CU92. The associated liability initial fair initially measured at

CU13, being the guarantee amount (CU8) plus the fair value of the guarantee (CU5).
Subsequently, the fair value of the guarantee is recognized in profit or loss on a time
proportion basis.

The following entries would be recorded at the date of transfer.

Dr Cash 105

Cr Financial asset 92

Cr Financial liability 13

To record the transfer of the asset and recognition of the liability associated with the
guarantee.

If, at the end of the guarantee period, no amount have been paid under the guarantee, the
following entries will be recorded.

Deloitte 28



Dr Financial liability

8*

Cr Financial asset

To derecognise the continuing involvement in the asset and the liability
associated with the guarantee.

If, at the end of the guarantee period ,the full amount of the guarantee is
claimed by Transferee Y, the following entries will be recorded.

Dr Financial liability

Cr Cash

Dr Profit or loss

8*

Cr Financial asset

To record the settlement of the liability associated with the guarantee and

derecognition of continuing involvement in the asset.

* The fair value of the guarantee of CUS5 will have been fully amortised by the
end of the guarantee period

Deloitte
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Astdavaunsnetiluiannsweg aa?
(Securitization)

= Securitization is :-

= The process used to transform generally illiquid assets
into more liquid securities, which are then sold to
investors.

= The Cash flows generated from the underlying assets
are used to pay principal and interest on the securities
as well as transaction expenses. The securities are
“backed” or “supported” by the assets.

= Types of assets securitized in Asia; Mortgage loans,
Trade receivables, hire purchase receivables, credit card
receivables, bond portfolios.

= Typical securitization are structured such that the legal
ownership of the securitized assets is separated from
the originator.

Deloitte 30



Securitization - Closing Date

@sale of Initial Receivables (@) Debentures

Cash payment for

part of the purchase pri Issuer @ cash Debentureholders
Balance of the

purchase price to be

Seller

deferred -
Servicing ® servicing
@ Agreement Agreement

Seller

(Back-up Servicer) (as the
Servicer)
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& Securitization — Revolving Period

@ Sale of Offered @
Receivables (monthly Interest on Debentures
Seller @ Cash payment for (e, Debentureholders
Offered Receivables
Q O Application of funds (monthly)

Q Collections
Servicing Fee

Monthly

allocations in

Back-up Services Selier: EYMETE O
(as the Servicer) fees and

expenses to
O Collections various

service

Obligors providers
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Securitization — Amortization
Period

Seller Payment of Deferred Issuer Interest and Debentureholders
Purchase Price (monthly) Principal on
Debentures
(monthly)
@ @) Application of funds
@ Collections (monthly)
Servicing Fee
Monthly
Back-up Servicer atiocations in
P Seller_ payment of
(as the Servicer) fees and
expenses to
@ Collections various service

providers

Obligors
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